
MEEG 2013  Quiz #4.m22 
 

A 2-kg sphere B is released to 
fall freely from position B1 to 
strike with a velocity Bv  = 12 
m/s ↓ at a 5-kg sphere A that is 
at rest as shown. If the coeffi-
cient of restitution between A 
and B is e = 0.65, determine 
(a) the height h, (b) the veloci-
ty A′v  of A just after impact. 

 
 
 
 
 
 

 
--------------------------------------------------------------------------------------------------------------------- 
 
 
 
 

1 1 2 2 :T V T V+ = +      21
20 2(9.81) (2)(12) 0h+ = +  
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5 5:    0 0 2 ( ) 2(9.6)( ) 5x ABnV→+ ′ ′Σ + = − +v v   

 

             Impact:        34
5 5( ) 0.65 0 12( )Bn A′ ′− = −  v v   
 

 

       3.027     2.259A Bn′ ′= = −v v        ∴  3.03 m/s A →′ =v   


